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CHAPTER FOUR

Expectation and Variance:

Def: Let x be a. r. v either d.r.v. or c.r.v.”E(x)” is called the “Expectation
of x* or “expected Value of X or “Mean of X And denoted by LL.
Detined as followes,

I-E(x) =Y xf(x),whenxisadur.v.

Kt

T

2-FE(x)= [ XX cdaowhenyis aea .

R

2- E (x) existsif E:\| f (%= wxwhen Nisdioa

VN
e
3- E(x)expmg if [ f(x)duse whenxisCIig

e oy
(3"
H
M

Ex "1™ Given pmBfx)= 12°2 rv =023,

L8
b 0. MY

Sol: E(x) = i.‘-if(-\)

N

x| (3) i)
=g

IV A T
o)/ "8

Ry
{f
oo | W
oo | s

THEFUTURE . 31 % A0 Salner D2 joburi




CHAPTER FOUK

2 3 3 6
)3 ;
\2)/ 3

a2
o8 %
Ly
| St
x‘“‘“x,,ﬁ

oo

It

oo |
ool 5]

3 3
| S = LOSTR(x) 1—3
5.\‘:0 N=0 ’
S )
Eix)= 3 xf(x)=2
:
x=0 =
[
|
J< forg =123.4.5

H.W: given ap. M.f f{(x)=

e —

Find the expected Value of x.

Ex 27 Givena p.d.if )= 4]'38:101 Iherl s ST,
EO AN

z

I
Sol: Eé\): [\J‘(Hmuof\f;_;.,;h-:-ﬁg e

et B :jm[@_o]:éf:ﬁ
33 b4 243

H.W: Given ap. d.f f{x)= SR It R
0  Ow.

Find E(x)? "
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vl
:

v ok

Ex: Given ap. d.f f(xy= %

for, @"%@gj}/

O AT

Dose E(x) exist?

€ L
Sol: E{\) = J.\‘ --:-c'i".\' % J(?’.\‘ =1~
P

SE(0) 1sexist.

o

Ex: Givenap .df flx)=1{ x2 7%=

Dose E(x) exist?

¥

e
Sol: E(x { —ely = |-(ﬁn_.fm' —@‘0@|~Q-f
;A X ?J/

SR Ysisnor exist.
fa — £

Expectation of afunction of x:

Ex 17 Givenapm.f  fx)=410
i

Def: Let x be ar.v. and let g(x) be afunctionef x then

I [{-;’(,\‘ '1} = Z gl(.\‘ )

= [g(x) f(x) dx,if Xisernw

X

J(X) i vis dara

forx =1.2.34
0 0. W,
find E(x")?

ol: g(x)=x"

E@(.Y '}] = Z_ g(XN) f(x)

~

2 4 y Aow 27 647
E[XHJ:Z(EH}——“LL:[]_M}._S&- e S
x =] 0 ¢eqpl0 10 10 10 10 ]

W’%

THE FUTURE 5 0
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10
o EXP27: Given ap.d.f f(x)=1g MARSER &5
| 0 0.W.
] Y I
find E( Jx) ? ~
._1.
sol: g(x)=4x = x2
! - i 3 3 1
1 ( s
E[E(‘ )]:E(-\ 2 )= [x2 —dx :-]— [dadatne_ — % 2 |
0 ‘ 84 S 0
| { PRSI TR
5(3“ (\ 4] - OJ-—EC—}[J__]—-E—

Note: if f(x)be ap.d. of ar.v. x: then E(b)=b, where b is constant.

Proof: case ~17; IfiX is-a d.r.v. with pan.t. f(x)

E(b)= Eb_f{.\'_lz .?JZ_;(I}: b
|- 3 Wy
Case "27: If x isa c.odPwith.p.d.f. %),

o T
E(b)= | bf(x)dx=Db [f(x)dx=s
—u —w N

Properties of Expectation :

'I“‘hwe_r_:_:rem_ “1" If x 1s ar.v. have ap.f. f(x). and E(x) exists.

Let y=ax+b, a beR, then E(y)=aE(x)+b.

Solicase ;17 If x 1s a ¢, r.v, With P.d.f f(x)

Y=g(x)=ax+b
EG=Elg(x)]= Je(x) f(x) dx

THE FUTURE %g




(a\ +b) f(x)dx :OT ax f(x) dx+ tb fii%) g%

=

o oz
=a [ xf(x)dx+b [1 (x)dx=aE(X)+Db

paate S

case 27 If xis ad.r.v. with p.m.f \(\

[muh] Y(m—h} ,I[\}_Y oy I{\}TZh

=Y xf(xX)+ b f(x)y=afx)+ b
theorem "27 : let x be ar. vy if u(xpandv(x) are two functions of x. then:
.E [ue) T v(x)]= Elu)F E[v(x)]
proof: “ case "1™ f X is ad.rov. with pan . f(x) let g(N)Fu(x)+v(x)

Elu(xy Tvix)] = Ela)] = Zﬁt.J_:m

= E[u(x)?L\‘b:)] fix)= Sub ) FEET S v(x)f{x)

e VA i

=E[L1(_\')]3F E[\-‘(,\')}
case 2 If x is ac.r.v. with p.d.f f(x).

Jet gz )=u(x) Fv(x)

E[u(x} +3(X) ]: E[g(,\'}]: __fg(\) f(x)dx
= e Fveo) f)dx = [ u()f()dx F [v(x) F(x) dx
= E[u(x)]i E[v(x)]

THE FUTURE iﬁg
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X+2 . S
_ L - —2<x<4
~ Ex“1” Givenap.df fx)=1 15 ° h
" 0 0.w
find Eppx* -1] & Elx+2) |
; _ . 4
Sol:E[’lx e 1]:> le(x)=2x% 1= Eflg(x)]= [g(x) f(x)dx
Or 2 Elzxf‘-—lJ::f(ﬁ«l
3 3 X402 14 4 7
E(X)= fx ¢ dx=— [(x7+2x )dx
&) > 18 ) 18 [3( )
r 5 4_| i % T Sy “
_ 1T xT A T ((10,_4 23645 S3E 46
18] 5 2 -2 el T\
_ 1 oss Mofe 11036 L.
18 3 i 18 5
5 5 +
i"[(\— )‘]—_ﬂ'g(\):(\+") :E[Q(\)]: o(x) Fix)dy
01-2.E[>;3+4x +4J:E(x3)+4Em—4
= |1 Tx)dv+ 4{u F(v)elv+ 4
Find E [(x+2)"] ?
N X fewe1234 1o.3 ~,
2. Givenap. m.f, f(x)=] 10 o find E2x7 ~HLE((x = 1) [
LO 0. W, k- )
_ X-1= =33 2% ~| )
~ theorem “3": let X be ar.v.
o e

THE FUTURE 50 %




If 3(a)suchthatp(x =2 a)=1, thenE(x) 2 a.

fpo

b. If 3(b)suchthatp(x £b)=1,then E(x) <b.

o
L Ifp(agx <b)thena < E(x)<b.

e

Proof: a. case “1™: If x is ac.r.v. with p.d.f f(x)

S

R
- :
Pl a)=1= f{xidx=] _wa?’ -
) a _F;;WMWE >
T(X)>0 foragx<=
=0 0.W,
Ra= {1 : w&xgon )
£ i gz o
E(x)= [x f(x)dx 2 [af(s)dX=a ie)dx=]
a o '
=3
s By =a
Case (2) if x is dryt svith pm.f fix)
Elx)= 2\ i’(x?[aﬂx}: ay t(x) =1
x=a ¥
=a
SEE) 2 8.
b. Similaryef(a).
¢. Case *17: If x isad.r’v. Noimap.dil i)
h
Plasx<sb)=1= Y fIx)=
N=d ! e
Sf(x)>0 foras<x<h _ wf;\wm___gﬂ,wf i
=0  o.w X k

E(x)= Z.\_‘f{.ﬁ() = Z{}f'(_r) = J)Zj"(\x) z= 1

% ol BB B B £ 2N
Sby'"1"&"2"we ger a L E(x)<D

theorem 4”:Ifp(x>a)=1and E(x)=a then p(x =a)=1 and p(x>a)=0.
P '

' n g
THE FUTURE A
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proof: case “1”: If x is ac.r.v. from ap.d.f f(x)
Aplxza)sl = fe)de=]
a
f(x)>0for a<x<=

=0 ow
E _\ e -r.. ’ \ e | t 1 e ;f
) | Y f(x)dv=a=u.l : J f“ : I ' iR
Cf: oo & 2
Xf(x)dx=a [f(x)dx= [xf(x)dx= [af(x)dx
a a a a

.thus inquality hold only when x=a

LelRix>a)=¢ = P(N>a)=0
ply2a)= p[ (x=a)u(x >%¢ .f}]— PO = (Bl il o S WS EE iy = a) + 0= ply=g)=1

case "2y If'm 18 ad rA from ap.m.t f(x)

p(\>1)—l—xvt(\] ]
Flxsl for aS\\J:

=0 ow

E(X)_ E'\f(\} == E= ”'Z.;.{'YJ = Z&:‘F (X

e >
Z\;{\}—Yq)‘{\
Xea Kot

This inequality hold only wheny=a
1. (xPa)=g=splyza)=0
(X ;a)z[(x =a) (N >a}}:p(x =a)+p(x>a)

= L= =d) -+ 0= =a)=]

variance of random variable:

Def: let x be ar.v. the variance of x denoted by v(y) or 87 is defined as
vx)Efv- £ |
wEGsH ‘thcn v(x)* ]_—.[(\ — 1) ]
note: since (xw,u) 20 then E[(.x - _}EJE 0
. v(x) = 0alwayes.
properties of vaﬁmce:

theorem “5” let x be ar.v.,then v(x)= E(xz)»“[E(x)}

57

r : é‘d 8 %
'HE FUTURE 2, 8




Proof: v(x) = E{[x- E(X)I'}
o V(x)=E {7 < 2E()x+ [E(0) ]ie(.\') constant,
\.-‘(x):F(xz) PEX)EC)HE)
v(x)=Ex?) 2 [E)P +EGF = vix) =Ee?) - [E)F
note: }‘\-'(\:)=(}<::>k(x ' {(\()]
- 2o u(x) 20=00 E(x [L \)]

3.v(b)=0, bis constam.
Theorem “6” let x be ar.v. and v(x) ex 1 st, If y=ax+b |
a.be Rihen v(y) = a” V(N).
Proof; y ax*b:if(_\-] =aE(x)+Db
Viy)=E [1 = ()] = "‘[{mw b) — (aBeeysb] |
=E t[ﬁ\ —ak(x) "] { [\ L(x)l }
5 = A2F{N - B =i

JorB<x <l

Ex: Givenap.d.f #(\) :{;

(1
a.find E(x) &¥x). [B.If v=1-2x, then find E(y).()).
) 4

o 1 o 3
u,f.(.\)wtl“\[N B ) = S @
\‘(x)z‘E(x2 ) — [E(x'}]3
e by =
E=(x" =[x~ (3x" )d\—f_ ==
0 d (-
3 9 d48-45 3
V(X)) = m e e —
16 80 30
b y=(=2)x+1=> E(¥) = (-=2)E(x) + 1
3 -3 l
11(\)“(—2)(‘21")*.]Z-’—E—%-I:ME

: 3. 1D
(=2 Vx)=A (=) = —
v(y)=(-2) v(x) (80) 20

6x(1—x) ‘for0O<x <l

H..w.: Given ap.d.f. f(x)=f(x)=1{
S Divepp it BO=I=l 0.w.

If y=2-3x, then find E(y) & v())
Theorem “7” vix)=0 iff 3K where kis constani such that p(x = k) =1

THE FUTURE $9%
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< suppose that px=k)=11pl(X)=0
F(x)>0 forx=kF
=0 AT
x)=wx=k)=0 hp noe.

Poof:

= S\J.Pflpgk v(;f}:‘_: o

2

Lp  px=k)=

> iy - E()] = 0f=1

;
]

hyih "Y'= [E(x)=u — plx= a) 1
=

p-',_(.\'—fj‘(x)):(lf—l:w Y PR = B = i

x=ks B =Lk =k=0 plx=4]=

Existence of Mean and Variance:

E(x) exists 1ff E(ix!) <&

= E(x7) - [BON = - VN exists iff E(x) & E(x~) exist
. } .
Ex. "17: Given acglichy p.d.f f(x)=+ e for —w<x<=

ml+x7)

Show that E(x) dose net exist?

Sol.: E(xi) = } K~ . dx:f_-f_\'—— S_glx
o —e w7 0" R e g
1% 2 - !
*i {@--wd\w—-—ln{ g )?O':—Un:f:—lnéjréo:
Tol+x™ T T

}:'{g.\‘f}}lix = [F(x) dose noi exisi

Exercises; 1. Letx be a c.r.v. have a p.d.f f{x) where

B it

h
fx)>0 for0<x<b<ew,  Show that E(x)= J[I-F(x)ldx
0
=0 o.w.
Hint.: f(x):d—?f-) ¢ f(x)dx = dF(x)
Hint. -

2. Ifx is d.r.v. have p.M.f fx)>0 . forx=-1,0,1

= () 0. W.

: — 0%
EHE FUTURE i
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a. If £(0) = e Find E(x%). SF(x)=1=> (-1 +f(0)+f(1) =1
. ] N B an oa i
b.If f(0)=—, and E(x)=—, Findf(-1), f1)
2 6
A= s for X«
3.Givenapdf f(x)=< " =0
0 0.\

a. Find E(x) & V(x), b, If y=2-3 x. find E(v) & V(y).

; SER le€x<l
. : [1=ix “laxal |
Hink %) = ' :jl—\ Ogx«l
e 0., |
' LO 0.1

Momenrts of Random Variables:

Dei Let x be a g either drvoor e, let Ko=uTihen E(,\'j") is called

“the k"™ moment of X7 or “the moment of order k of' "

when k=1 = [:( = * moment of y = Lt
| E(x') = 2."""L moment of x
Note: E(x") exists iff Et jf) <z
. Theorem 8™ 1 E(x") exists then E(x‘s’} exists. j<kandj ke I
Proof: case 1™ If x is c.r.v. with p.d.f f{x)
o Bl e ) exists = .'.E(Ex;fk Y

Tp E(x-"j) exists, T.p E(i};i-i) <

}:(:\l): |\.|f(\) | ‘%/L(]%’M

E ('x" ‘XJPF(X dx + _{f};‘jf(x)dx

,%x;S] x>

THE FUTURE %
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S ik il g N R

2" central moment of R.V.X is equal to V(x).
Ex. Let x be o pogt B} = 1, Blx’) = 2and E(x’) = 5. Find the3"
J central moment of x.
E[(x-1)’] = E{x’ - 3ux’ + 3_;13.\1 T
=E(x) - 3pll€(>{3'J ;\31l3E(x) Tk
1. 3= =]

=53.,T .2+

LS

i
LA

Exercises: 1. Ifx ~uniform (a, b); a, b € R. Find the valued of 1™ central

B R

moment of x and also find the 2™ central moment of x.
3. Lety = E(x)and §" = V(x) showthat Ef(x-11)'] 2 5!
.e. 4" central moment of X is greater than orequal the square of varianc

of x.

Moment Generating Function (M.o.f).

Def.: A moment generating funcuon (M.g.f) of a riv.x is a function that

determines all moments of x, denoted by M, (t).suppose that t € (-h. h). h > 0.

If E[e™] exists Vte(-h. h) then M, (1) = E[e],-h*< t <h
There are two cases of M(1).

Case "1™ If xis a d.r.v. from a p. M. {(x)

M ()= E[¢" MZCJ”

Case “2": Ifx isac.r.v. have a p.d.f f{x)

ML (1) = Ele™) = [e" f(x)ex

. . e for x >0
~ExzGiven apdd fix)=
o 0 0.W
Find M,(t) and sketch it’s graph.
_ Sol.: M _() = E(e") = [(3" e el = [e'“'”“'aﬂ.\-

{ : {

THE FUTURE i&;s
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This integration exist only when (1-t) > 0, 1.e. t <]
--__L,"'i .I,;J:—:_T:_ - _]_
."-f._(f‘)‘—lmrr{. L I_;[L_,, L_,] _—_
Mo )= —]—-—— for 1<l
1 =1
~
t I M(t)
_-_-.__ 0 ‘ ------- 1 Graph of /
Aot |
-1 0.5 P
2033 = Loxs
& 0.25
o o
. . -~ \ A -’ - -
Ex.: Givena pM. 8 4 fgrx=1 2438, 5
i I(x)=416
Find M.(t). 3 0 0V
Sol.: ) B e Y25V e F S e
et ( LSS 2 73
] ; i } i 2 ~ ar = o 57 ~
=% xg" =—[l-¢' =2-¢" +3.27FFE +5e"] for —m<i<x
1574 15
Theorem "@": Let x be ar.v. have a M.g.f. M(t), then
M (0)=1, M’ (0)=E(x), MI(0)=E(x"), M"(0)=E(x"). ...,
M(0)=E(x")
Proof: *M (t)=E(e") by Macclaurin series
. . h : ' Xh
SR R e R o
L3 k!
N CUx thx”
e’ mlspipsb=—ea R
3t k!
: tj; 2 tﬁx.‘\ tk I
M (t):E[1+tx4~~~L+ b i
' 2! 3! k!

s

Mh(t)gd;%x) +;E(x3) + IIE(X) + ...+%E(xk)ﬁs~m
THE FUTURE 14 B . ’




CHAPCER FOUR

A e e e i e

M (1=0)=M_(0)=1

[ |
. M = 2t .3 . st _
i iy e - e 28 e St B e B Bint 4
dt 2! 3! k!
M. (B)=E(x)
AN (1 61 Kk~ 1t
M”(0)=E(x}
Simillary we Can find ! E(xY), B, .. F(\})ﬁ\
Note: M (1)=M _(0) ‘t\/l (O L——\1 "(0) + --l—‘--!-i\-’l_‘f'(O)

This series is called the M..g.f. by Maeelaurin series.

Ex.. Given M\(I):i ]_\ p I<; Find E(x)and V(x)
- ot =
= ]
Sol.: M (t)=0-21), r<—

N =—(1=20 " (=2)=2(1-21)"
SE()=MU@R 20 -0) o

Vix) = E(x" QKT

M (1) = 8(1 = 205
CE() = MI(0) =81 =0) =8

\"{,\'):8~2::—EZO
N\ be

Theorem “107: Let ar.v. have a M. g fM1). If Y =ax +b.a. b, eR

then N (1) = e™ . M(at)

Proof: Y =ax+b
_HJH:HHW@y&M:ERMMT:HE“”j
M @) =[e"" e = e Ele ™ )= " M (ar)
Since M ()= E(e"y=> M (ar) = E[e""]

Ex: Given M\U):i] fort<t , Ify=1-2x, find M, (1).
= 3t 3

Sol: y=(-2)x+1 ,a=-2 , b=l




5‘%{?@’&% ?OZM

By th.(10) ::DT\-’I.\_(l) =e"M g ‘M (
1
M Ll)“ ------------ fort < =
...... ‘J: ‘3
1 |
L ) R S N FSpEs o
F=3(~2t) 1+6t 6
1+ 6t 6
The bonded of probability:
Theorem " 11" ((Markov in_q_uzaiii}'j)
: R

Ifx is arv, and if P(x20)=dgthen PO > i

)

Proof: case 17 if Niis & etoviwith a p.d.f

o208 £ | (\10\ =

fx)> O Frar x20
00 O\

Bo= jx,ft;odx—-j}cﬂ)odx«-i’;ﬁxﬂ@ kﬁx}dxa rz—mm k24

CEtoz lfff’gx)d:{m E‘(x) >i"| F{xidx

.E_{.\]i_i_@ }_,(,\EI}

Case 2" If xisad.rv. with a p.n.f £

Thearem “127: “Chebyshev inqualities™

i

Let X be ar.v. where V(x) exists,then:

x) by the

same method.

i ) )
_1.;_-(%&;{13‘_/;‘) Z“L" >0 2 J,J{!X’—rgqplu—--—— 201
2
7 -I(x) . g 3 2 . <1 -
Note: 1. —5— is called the wpper buond of pilx - u] 2 1)
- r' +
(x)

I

IV \”vz,

THE FUTURE i 16 %
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i

et et i

Proof: 1 Fix)=E[{x ~ “4)'120

Let y=(x—p)" 20 = E)=Hx- 1) =) =0
. by Markov inquality. we get
3 & [ Y=o

50) ) N = T

e

R, TV R
) i
PLIx-ml< &l vy
I-_\ TR ik ! e N :-.f’ :
N R~ an il (~~/3.+/3] then
a. Find the upper bound of  pulx ‘"*/'{l o
7




am i B

s Y

¢ \’(3{) = 2 (X‘ ) _ [h(\)} S == 1 o f53 Y

V(Y | 4 (&
U.b‘ P (‘ ..... ) — S O_j 1. i i - — :
- _3\? it 4 9.3 gl
(:ZJ
3 3 3
1 1 3 - : -
0. pN—-HMi2—)=piN-—-U02—)=plix>=
p( /| 2} Pt | f))_*lf-\"-')}
et
L 3 11
a. Find the lggerbound of pi e nc)
i ‘
. , 5 sl N
b. Find the value of p(= < x € —4j
4 5
i AR N
Sol v a. Lbe] YRE
"
Ix - 3
Eixi= dn Tody = chey e Ty 50 L
) 4 s
B 3 ; ¥
By = f\ (-—=)dy = & » = e U Y m - R
Q s i 2
Vint= B = BN
1
m o 5 e (} < :__
5 5 a | 3 3
p(..-«;\(».#_}_ ]J(I_‘_\‘ oo G ‘ 2j—_}1{ St (IR I ‘}

P ) [{ %]
Lb =1 \_H(.:'}J; = i i s § sl




LT

Median of Distriburion of'r

Def.: The median (m) is a value of x such

that satisfing the two following
inqualities;

=
I
.
Jﬂi
ta ] —
o
-

S S

b | —

| By properties of ¢.df iy

Y <ni) = Fim), PAE m) = Fm) = Finr)

" T Gy |

Notel]) If r=m=1f ihe:
R

JRRN-SIP Ui :_1

@ Thevaluaf mediasumniqu

Ex.: Givena p.m.f fix) =4

|
i
Find the median of v, 10 A

1
Sol.: PLY < omj < 3 & plygom) s T
Suppose that m =]
; 1 s { 41
Ploc =08 —. pPYED= ()= —f -
2 2 &

R I

THE FUTURE £ %




ek i o

. , |
pla< 2= fil) = s i
}'?{.‘{ £ 20 fr(” 4 :;:] b 4 _":";.’. -

| 0

Suppose that  m=3 T

{ " a wpey E : ﬁ‘ l 1{
plx<3)= fM+ f@) = ot Fomos g
B e o] =

LR E3%E PO I 1) W - 6‘1'
BV S 3 e FL 4 FU2) 4+ J(3) = i e e " s e
" ' ' : s 15 15 1572

Suppose that m = 4
]

fid —
1o <" _’:3:

. . 2 b & 0 :
pEv s 4 = FUY+ P (a) R
' ' 13 -

e :
ply€dr= 1) gRF~7 (M~ Jisd= Fpa
=iy medicp

| ]

Ex.: Givena pid. I ANTRS ) =950

Find the median of x?

. ] . i
5@1’: T R o — & e L
i -~ ¥
; i N }
plx <= | = ey = —lg -
4 \ m 2
1 l I
| H
............. | g e mm < 2 L)
mn 2 i 2

o1 .
——{i ~1]z-=mz22 . et
i i

From (1) & (2) => median =2
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Note: We can also find the value of (Median) from the graph of F(x) such
et . i I ‘ o
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Some Special Distribution:

Discrete Distribution:
1) Discrete uniform distribution:

The r.v. X is said to have an uniform distribution if P.m.f. is give by

1
— 5;x=123,...,N
f(X,N) = {N ; Where the parameter N = 1 Natural numbere

0 :o.w.

And denoted by X~ D, (N)

Clear that

N
f(x) =0 and Zf(x) =1
x=1

Then f(x) satisfies the condition of begin a P.m.f. of discrete type of random
variable x.

N+1 _ , N?-—
and the variance o*“ =

Note : the mean u =

(proof)

The moment generating function of uniform distribution is given by

My() = E(e™) = Y e f(x) = ) et % - %Z et
Vx

Vx Vx

1
N [ef + e?t +e3t + ... + eNt]
ll +el+ e+ + e(N_l)t]

et
N

et [1 — eNt
ZNIW]
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Example : If X~ D, (6);find @ P(x>1) @ P(x=3) @ meanand variance
Solution :

1
= 5 x=123,..6
X~Dy(6) = f(x)=10
0

;y 0. W,

@ P(x>1) =1-P(x<1)=1-P(x=1)=1-1/6=5/6
@O P(x = 3) =P(x=3) + P(x=4)+ P(x=5)+ P(x=6) =1/6 + 1/6 +1/6 +1/6 =4/6

Or  =1-P(x<3) = 1- [ P(x=1)+p(x=2)] = 1- [1/6 + 1/6]=1-2/6 =4/6
© Mean ‘u=N-2|-1 _ 6J2r1 :%

5> _N°-1 _36-1 _ 35

Variance o 17 7 - 12

2) Bernoulli distribution:

The r.v. X is said to have a Bernoulli distribution with parameter p if P.m.f.

is give by

p*q™* ;x=0,11
fX,p) = ;Where the parameter 0 <p<1,g=1-p
0 ;0. W.

And denoted by X~ Ber(p)

Clear that

1
f(x)=0 and fx)=p+q=1
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Then f(x) satisfies the condition of begin a P.m.f. of discrete type of random
variable x

Note : themeanu = p and thevariancec? =pq (proof)

The moment generating function of uniform distribution is given by

Mo() = E(e™) = ) e f(x)

Vx
1
=zet =Ze p*q'”
Vx x=0
= e’ p’ g0+ e plqiTt = q+pe’

3) Binomial distribution:

The r.v. X is said to have a Binomial distribution with two parameter n
and p if

P.m.f. is give by

Clp*q™™™ ;x=012,..,n
fX,n,p) =

0 1 0. W.

And denoted by X~ b(n,p)
Where the two parameter n and p satisfy the following conditions:
1- nis a positive integer

2-0<p<1

3-g=1-p or p+qg=1
Under the conditions, it is clear that

f(x) =0 vx and Zf(x) = Z Cer q"™ =(p+q" =1
x=0 x=0
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Then f(x) satisfies the condition of begin a P.m.f. of discrete type of random
variable x

n
N A X|N—X _ n
Useful relationship: [Binomial Formula is Z;)Cx ab - (a + b) :
X=

Note : themeanu=np and thevariancec?=npq

Proof :

p=EC = ) xf(x) = ix. C2 p* gn
x=0

VX
n n!
' Cx_x!(n—x)!
n n '
n L n
..u=2x.Cx p*q"™* Zxx!(n—x)' p*q"*
x=0 =0
n
n!
— X 4N—X
Zxx!(n—x)' P4
x=1
n
nl
— X o Nn—x
Z(x—l)!(n—x)' P-4
x=1
- (n—1)!
— n-— ) x—-1 n—x
nPZ(x—l)!(n—x)' p= 4

m
= npz Cy p” q™ =np(p+q@™ =np 1™ =np
y=0

“ u=np

Third Stage (64) ) Als )



Probability and Mathematical Statistics _ 2kl sbas Yy Adlaiay)

0% =var(x) = E(x?) — E?(x)
We must compute E (x?) to that we compute E[x(x — 1)] = E(x?) — E(x)

E[X(X—l)] =2x(x—1)f(x) = zx(x_l)cz px qn—x
Vx x=0
C nl y
s Elx(x—1)] = xzzx(x — 1)m p* q"

n n' X AN—X
=XZ;(x—Z)!(n—x)! P4

SR Gt L,
=n(n—1)pzz(x D P q
xX=2
=n(n-1p? Y €7 p2 g
x=2

=n(n — 1)2922 Cy p’q

E[x(x —1)] = E(x?) — E(x) = n(n — 1)p?
= E(x?) = np + n?p? — np?

L 02 = E(x?) — E2(x) = np + p2p% — np? —p2p®
= np —np® =np(1 —p) = npq
2

o~ = npq

The moment generating function of Binomial distribution is given by

n
Mx(t) — E(etx) — Z etx f(X) — Z etx C)YCl px qn—x — z CJ? eltx px qn—x
x=0

Vx Vx
n
= Y Cien qF =(q+pey
x=0
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The properties of binomial distribution is:

1- two possible outcome
2- ntrials
3- independent trials

Example: Suppose X is binomially distributed with parameter n and p, further suppose
E(X) =5 and var(X) =4, find nand p.

Solution: X~ b(n,p) = E(x) =np =5 and var(x) = npq = 4

4 4 1
I=>q=§|=> p=1—§=§
5
np=>5 I=>n=T=25
5
1
x-b(25.1)

4) Poisson distribution:

The r.v. X is said to have a Poisson distribution with parameter A if

P.m.f. is give by
el 1 0,1,2
y X =U,1,4,..,00
fX,n) = x! ,where A > 0
0 ;0. W.

And denoted by X~ Po(})

Since >0 = f(x) = 0; Vx
(0] )\x
Since T et = Zf(x)=1
x=0 Vx
Then f(x) satisfies the condition of begin a P.m.f. of discrete type of random
variable x
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Note : the Meanu =21 and the Variance c®> =2
Proof :

Mean = E(X)= ixf(x;/l) i A
x=0 X!

x=0

L& AT
_e X —————
=0 X(x-=1)!
0 x-1
_eaY A
xl(X 1)'
0 1 2 3
_ u{ﬂ AyA LA m}
0] ]_' 21 3
=e*le’
=1

. Mean of the Poisson distribution is 1
And

Variance = Var(X) = E(X?) —[E(X)]J?
-» Mean of the Poisson distributionis 2 From (1)

Var(X) = E(X?)-[A]°

E(X?) = zx fca) = Stk

_e " > x(x-1) S
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:e_llzii_i_ y)
x:Z(X—Z)!

0 1 2 3
IS AN
o 1 21 3
=e e+ A
= E(X)= A4 A (2)

Putting (2) in (1) we get

Var(X) = E(X?)-[A]
-+ A-X
=A

~.Variance of the Poisson distribution is A4

Note: In Poisson distribution the mean and variance are equal i.e. 4

The properties of Poisson distribution is:

1- The event occurring randomly in time.
2- The number of event in non-overlapping time period are independent.
3- >0, rate of Poisson process is average number of events per unite time.

Example :Suppose the number of flaws in a 100—foot roll of paper is a Poisson random
variable with A = 10. Then the probability that there are eight flaws in a 100-foot roll is:

Solution:
e -10 g 9 71R9])-10

P(X=8%=10)=E A _e™10)" _ (2.71828) (100.000,000) _ ;¢
X! 8! 40,320

The probability of seven flaws in a 50-foot roll is:
: TN e3(5)  (2.71828)7(78.125

Px="7r=5=82 _ €0 _ Q7888125 _ 4,
X! 7! 5.040
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Note:

The Poisson distribution can be limiting case of a binomial distribution under certain

conditions.

1. Number of trails i.e. n is indefinitely large i.e. n —> oo

2. p, the probability of success in each trail is indefinitely small i.e p—0

3. np= 4 is finite.

Proof:( ¢34 )
If X is a binomial distribution then the probability mass function is given by

P(X=x)=C! P*q" ", x=012,........ n
Under the above conditions

lim b(x;n, p) =lim C’ p*q"™*

Ce 0 (AY(AYT
sl (Ch) (e

n(n—l)(n—2) .......... (n—X+1)(n_X)!(&)X(1_&)nx

: n{{lﬂ@ij ............. (M;lﬂ (1_@”
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Example : [f n=5000, p=0.001 and X~ b(n,p) find P(x=7)=f(7)
Solution : X~ b(n,p) = X~ Po()\) A= np=5000* 0.001=5

e N _e’(5) _ (2.71828)%(78,125)

PX=7A=5
=1 )= X! 7! 5.040

=.1044

~ f(7)=0.1044
The moment generating function of Binomial distribution is given by

Mx (t) ) /1(31:—1)

Proof :

—ﬂ,/lx

Mx(t) = E(etx) - ZVxetx f(x)

Z @e)* o—rplet — pA(et—1)

Example :Let X be r.v. whose M.g.f is give by e2¢'~2 find P(X = 1)
Solution : X~ Po(2)

e 2 2%
' :x=0,1,2,...,00
fGD = 7
0 1 0.W.
SPX21)=1-P(X <1
=1—-P(X =0)
-2 50
=1-L"=1-¢"2=0864

Question: If x has Poisson distribution and P(X=0)=1/2 find E(x) ?

Solution :

v X~ Po())

e~ x =012
) . x! ) X = O; yey ey o
“F(X,A) = [H. W]
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5) Negative Binomial distribution
Perform independent Bernoulli trials repeatedly until a given number of success
are observed i.e. let x the total number of failure before the rt" success, that means

the r.v. X represent the number of failure Prior to the r" success the P.m.f of X is:

Cx+r—1 r

p"q* ;x=01.2,......

fX;r,p) =
0 1 0.W.

And denoted by X~ Nb(r,p)

Where the parameter r and p satisfy r=1, 2, 3, ......... and 0<p<land q=1-p

Since0<p<1

+ f(x) 2 0 Vx and Zf(x) = Z C g =p - =
x=0 x=0

Then f(x) satisfies the condition of begin a P.m.f. of discrete type of random
variable x

- n+x-1 4 X __ —n
Useful relationship: Z(:)Cx a = (1_ a) :
X=

rq : , Tq
Note : the meanu =-— and the variance 0 = —

p p
Proof :
p=E@ =) xf@= ) x G g
Vx x=0
n!
- C" =
* xl(n—x)!
. _ - x+r—1 _ - (X-I'T—l)!
..‘u—zx.cx prqx - X xl(r_].)' prqx
x=1 x=1
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(00

o, (x+7r—1)! X
- P ;(x—l)!(r—l)!q
_ = x+r—-1!
—rap L =Dl

let y=x—1 and s=r+1
(y+s—1)! ¢
=rap Z Y (s —1)!

rqp’ rqp’ _ 1q
= = = = —
N CIEr ) LR

rq
CU=EX)=—
p

2 = var(x) = E(x?) — E?(x)
We must compute E (x?) to that we compute E[x(x — 1)] = E(x?) — E(x)

(0.0)

Elxx -1l = ) xx=Df@ = Y xx-1)C;" ' pr g
Vx x=0
- x+r-1!
E[x(x—l)]=;x(x—1) -1 P4

L o (k= 1)
=a°p r(r+1);(x—2)!(r+1)!q

let y=x—2 and s=r+2

x—2

(y+s—1)! y

— 2 AT 1
q°p r(r+1) ), G - D!
2 AT 2 AT 2
q°p'rr+1) q°p'r(r+1) r(r+1)q
= E(x?) —E = = =
(x ) (x) (1 _ q)s pr+2 p2
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r
= E(x?) = ” +—+—

r
0% =E(x*) - E*(x) = Tt

_rq* rq_rq(q+p) _1q
p> p p? p?
rq

g% = F

The moment generating function of Negative Binomial distribution is given by

MO =E@) = Y e f0) = » e O pr g

Vx Vx

- pf;C;‘”‘l (') =G

Other formula of Negative Binomial distribution given by

Cffi_l p"q* ;x=012,......

fX;r,p) =
0 1 0. W.

Where X denote the number of failures before we get the first r successes

Remark: If X denote the number of trials required to get a total of r successes then

C;C:;prqx_r s x=rr+1L,r+2, ... ..
f&X;rp) =
0 ;0. W.

6) Geometric Distribution

In case of the binomial distribution, the number of trials was predetermined.
Sometimes, however, we wish to know the number of trials needed before a certain
outcome occurs.
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For example, we wish to play until we win; you roll dice until you get an 11;
a mechanic waits for the first plane to arrive at the airport that needs repair;
a basketball player shoots until he makes it. These situations fall under the
Geometric distribution. (Special case of Negative Binomial at r=1)
The r.v. X is said to have a Geometric distribution with parameter p if
P.m.f. is given by

p q*;x=012,......

f(X;p)z{ where0<p<1, q=1—-p
0 :o.w.
And denoted by X~ G (p)

Since0<p<1

~ f(x) =0 Vx and Zf(x)=z p q* = 1
x=0 x=0

1-q

Then f(x) satisfies the condition of begin a P.m.f. of discrete type of random
variable x

The moment generating function of Geometric distribution is given by

M) = E™) = ) e f(x) = ) e p q*

Vx Vx
p
=p Z(etq)" =
~ 1—qget

Note : the mean u = % and the variance o? = pq—z
Proof :
M(t): p I:M/(t):Let I=>E(x)=M’(0):L€0=g
* 1—qet X (1—q et)? X (1-qe%? p
q
u=E) =-
p

(1-qge"?(qe)+2q(1—qeD)pq e)
(1—qeb)*

Third Stage (74) ) Als )
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(1—qe®)’(pq e®) +2q(1 —qe’)(pq €)

E(xz) =

(1-qe*
2
 E(e?) = (1-q)(paq)+2q1-9q) e’ +2¢°p" qp +24°
(1-q)* p* p?
+2¢* ¢q° +
0% = var(x) = E(xz)—Ez(x) = g2 = %_%z %z %
02:12

p

The properties Geometric distribution

1. Each event falls into just one of two categories, which are generally referred to as
a “success” or “failure.”

2. The probability of success, call it p, is the same for each observation.

3. The observations are all independent.

4. The variable of interest is the number of trials required to obtain the first success.

Remark: If X denote the number of trials required to get a first success then the P.m.f is:

p gt ;5 x=1,23 ...
f&X;p) =
0 ;0. W.
: 1 . , 1
Note : By this case the mean yu = 5 and the variance o? = ?
Proof (H.W.)

Example: On island of Oahu in the small village of Nanakuli, about 80% of the residents
are of Hawaiian ancestry . Suppose you fly to Hawaii and visit Nanakuli.
What is the probability that the first villager you meet is Hawaiian?
What is the probability that you do not meet a Hawaiian until the third villager?

@I ) bl b} (b RPN M\/@Qm\&.% 80 () 5n «(198 U 8 B sl 43 BN B 5ila o 550 )
(Pl (g Al a o) gl (sl Al Y Gl Jlaia) sa L 9051 sl 48l 5 J s ;Jﬂw\dm;mu_&,suu@j,

Solution :
fX;p) =

Third Stage (75) ) Ayl



Probability and Mathematical Statistics _ 2kl sbas Yy Adlaiay)

p=080=8 ; g=1—-p=1—-8=.2
f()=P(X =1) =(1-.8)""(.80) = (.2)°(.80) =.80.
f(3) = P(X =3) =(.2)*(.80) =.032

What is the probability that you will meet at most three people from Hawaiian ancestry (J<!)?

P(X <3)=P(X =1)+ P(X =2)+ P(X =3)

= (.2)°(.8) +(.2)'(.8) + (.2)*(.8)
=.8+.16+.032=.992

How many people should you expect to meet before you meet the first Hawaiian?

= % =1.25 = First integer number > y = Answer= 2

Note : If X is a geometric random variable with probability p of success on each trial, the

: : , 1
expected number of trials necessary to reach the first success is 1= E(X) = B

What is the probability that it takes more than three people before you meet a Hawaiian?
P(X >3)=(1-.8)" =.0016
Note, The probability that it takes more than n trials before we see the first success is

P(X >n)=(1—-p)™ and P(X 2n)=(1— p)". (Proof that H.W.)

Example: Suppose we flip a fair coin until we get a head. Let X be the number of trail to
get a head. Find the probability mass function of X.
Solution:

X~Gp) p=05 and g=1—-p=0.5

(0.5) (0.5)* 1 =(05)* ; x=1,2,....
Pm.f. is f(X)=
0 ;0. W.
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Question: A fair die cast on successive independent trail until the second six is observed.

Find the probability of observing exactly ten non-sixes before the second six is appear

Answer:
_, 1 5
r=e Py 0 475
Clhom g 5 x=012 ..
~X~Nb(r,p) &= f(X;7r,p) =
0 5 0.W
102 /5\"
1 c:! (—) (—) = 0,1,2,
I:f(x)zf(X’Z’g>= 1 6 6 ; X 4,4,
0 ;0. W.
/1 2 5 10
= f(10) = P(x =10) = C; (—) (—)
6/ \6
= 10 % (0.0278) x (0.1615) = 0.0449
Or
C;Hr_lprqx ;x =0,1,2,........
fX;r,p) =
0 0. W
1\2 /5\*
1 cxt! (—) (—) =012 e
|=>f(x)=f<X;2,g)= x \g) \6) ¥ 700"
0 S0 W.
11 1 2 5 10
= f(10) = P(x = 10) = C;, (g) (g)

= 10 X (0.0278) x (0.1615) = 0.0449

Theorem: (Memory Loss Property)
If X has the geometric distribution with parameter p then
PX=i+j|X=)=PX=)) ;i,j=123 ...
Proof:

L . _PX=z=i+)j) a-p¥ : .
PX=Zi+jlX=i)= P(X>i)] = (1_pp)i =(1-p) =PX z2))
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7) The hyper-geometric distribution :
Suppose that we have population of N objects; D of one type and N-D a second
type. A random sample of size n is drawn from the population without replacement.

Then if we let x denote the number of objects of the first type selected, we get first

of all (2) ways of choosing x object of the first type, (ﬁ:g) ways of choosingn — x

object of the second type, (17\11) ways of choosing a sample of size n from the population

of N objects then the r.v. X has P.m.f is given by:

f(x) = f(x, N, D,n) = (Ir\l]) ) ’ ) ) wany
0 ; otherwise

where @a = max{0,n+ D — N} and b = min{n,D}
® 0<x<D ® 0<n—x<N-D

And denoted by X~ hyp(N, D,n)

clear that f(x) =0 Vx

N

and ;f<x>=2(x)é’3:" =(§);(g)(fl:f)=((,+=1

x=0 n

" (A\ [ B A+B
Useful relationship: z (k) ( B k) = ( )
— m m

Then f(x) satisfies the condition of begin a P.m.f. of discrete type of random variable x

Th X~ hyp(N,D,n) then i = no and 0% =n— ~— 1 N=D
eorem: yp(N,D,n) enp=n and 0° =no- —— N

Proof :

u=E(x) = Exf(x) _ zn: X () G

S
Vx x=0 (n)
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m m!
v O =

x! (m—x)!

&® - D! (N-D
z (N) (N)z x'(D—x)!(n—x)

N (’T‘% ; (x —(f)!_(;)!— x)! (1:,1 : alc))

let y=x—1, m=n—1 and A=D -1

™M Z '(A!y)'(N il_l)
SO0 Uy
o (o) (o) -G

D
= u=F = n—
u=E(x) ne

02 = var(x) = E(x?) — E?(x)
We must compute E (x?) to that we compute E[x(x — 1)] = E(x?) — E(x)

Elx(x— 1] = Z (-1 f() = ) x(x- e )(&)

x=0

Elx(x — (N) z(x_z)l(D—x)'(N f)

DP-1D (@-2! (N-D
B (17‘1’) xz;(x—Z)!(D—x)!<n—x)
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let y=x—2, m=n—2 and A=D -2

DD-D A (N—A—Z)
() &yé-w

D(D—1)Z< )(N A- 2>

_D(D-1) (N-2y D (N-2
== ()= (os)
DD -1) n(n—-1) DD -1)n(n-1)
Y N@w-1)n/ N (N—1)

D(D—-1) n(n—1)

m-—y

=B == -
_ D(D—-1) n(n—1) nD (nD\’
L =EOD) -BW = —— oy _<N)
_nD [(D-D(n-1) nD
N [ (N —1) N
_nD [Nn—1D([D-1)+N(N—-1)—nD(N —1)
N | N(N —1) ]
_nD 'ym/—nN—NDW+N2ﬂ<f—M+nD
N | N(N — 1) ]
_nD [N?*=nN—ND +nD
N | N(N — 1) ]
_nD [N(N—n)—D(N —n)
N | N(N —1)
_nD [(N—n)(N — D)
~ N| NWN-1)

; D N-n N-D
0" = n—
N N-1 N
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The moment generating function of Negative Binomial distribution is given by

9] G
M, (t) = E(e™) = z e f(x) = Z ptx L) \n—x/

N
z z ()

C p
=1+ ) [Flk+1) — 1] =

Where: F(k) is the sum of the first k-coefficient of the hyper-geometric series.

Note : If we setp = %then the mean of the hyper-geometric distribution coincides

. . . . . . N-n _.
with the mean of the binomial distribution, and the variance is N—n times of

the variance of binomial distribution.

Some continues Distribution:

1) Continues uniform distribution (Rectangular distribution) :
The r.v. X is said to have an uniform distribution if P.d.f. is give by

! <x<bh
rasx <
f(x,a,b) ={b—a ;Where a and b it satisfy —o <a < b < o

0 10 W.

And denoted by X~ C,(a,b)

Clear that satisfy

b
f(x)=0Vx and jf(x)dx=1

Then f(x) satisfies the condition of begin a P.d.f. of continues type of random
variable x.

a+b , ,  (b— a)?
and the variance g“ = 17 (proof)

Note : the mean u =
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The moment generating function of uniform distribution is given by

b b
1
M, (t) = E(e™) = f e™ f(x)dx = jetx . dx
—a
a a
b—a_[e ===
a

Example : If x is uniform distribution over (0, 10), calculate the probability that :
O Px<3) @ P(3E<x<8) O P(x>6) @The distribution function

Solution: X~ Cy,(a,b) X~ C,(0,10)
1 1
;as<x<b — ;0=<x<10
f(x,a,b) ={b—a = f(x,0,10) =<{10
0 ;0. W.

0 ;o.w.

0P(x<3)—j—dx— [1}(—0]2= 3
9P(x>6)—j dx = [1()] 10_6 *

©r3< <8)—J1 —[] 8 3_2
x =10 = 10,
3

0 F()=P(X <) = | f) du =f1—10du MK

10
( 0 ;x<0
= F(x)={ > 0<x<10
10 x
\ 1 >
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2) Normal distribution :
The normal distribution is one of the widely used in application
of statistical methods the P.d.f. of X is give by:

_G-w?
e 202 i —0 < x < ©

c a2) —
fCeu0%) T

Where the parameters p and g2 satisfy —co < u < o0 and ¢ > 0,
And denoted by X~ N(u, %)

The properties of this p.d.f. are

1) Itis a bell shaped curve is symmetric about u

Symmetrical or bell-shaped.

(x)

U
y X

Has equal frequency to the left and right
of the central maximum e.g. normal curve

2) The two parameter that appear in the density £ and o2 represent the mean
and the variance of the random variable X.

Now
Consider the integral

ro1 _(x=w)?
]=f € 20% (x

V2mo?

letv=""* mav =% & dx=od
ety = y =— X =oay
(0) (0) o
<x< <y < i f 1 8_%y2d
y | 7= y
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(o)
1

ro1 1.2 1 1.2
= —— € 27 dx and I = j — e 2V4a
_-L\/ZT[ J V2m g

- [meT J e
2 2

= — e 2", — e 2Y dxd
_L_L\/Zn V2T g
1 [ [ _lp 1.2

=ﬁf je Zx . € Zy dXdy
1 (0.0] o0 _l ) )

2 | e ara

We change the variables to polar coordination by using

x=rcosf and y =rsinf

o0 21 (00]

r 1 —lrz 2T
= — 2
= j j re 2z dodr =5 J re 2" [0] " dr

- _1.2 _
=jr€ 2 dr = [—e
0

Then f(x) satisfies the condition of begin a P.d.f. of continues type to random

variable x.
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The moment generating function of uniform distribution is given by

_(—p)°
202 dx

M,(t) = E(€™) = j e f(x)dx = j Norrs

e P 2[2xa t+x —2ux+u2] dx

1
- \V 21o? K

0
. 1 e—%[xz—Zx(u+azt)+u2] dx
\V 21o?
—00

(0.0)
1 1 [2_
_ : P x2=2x(ut+o?t)+pP+(p+o? t) —(p+o°t) ] dx
210 L
0 2 2,)?
1 1 _ u +(u+a t)
2 e 552 x? 2x(u+a t)+(u+0 t) ]e 252 dx
210 .

. e 212 X —2x(u+a t)+(u+a t) ]

_e > el (aral]
2mo? K
Ify=x—(u+o%) = ; ooe_%[x_(umzt)] dx=1=1
V2mo?
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2 2
—u?+(uto?t) — U2+l +2uc?t+(0t)
M, (t) =€ 202 = e 202

1 2.2
= M) = et tzot

Note : The mean u and the variance o2 of normal distribution will be
calculated from M,.(t) as following :

1 2.2
Since M,(t) = €M T2 px) = M.(0) and E(x?) = M.(0)
ML) = €M7 (4 + g2r) D ML(0) = p

1 1
MY () = e H3o g2 4 eM Tt (1 + o202 = MY(0) = 02 + P

var(x) = E(x?) — E2(x) = var(x) = 0% +u?2 —u? = o2

3) Standard normal distribution

If the normal random variable Z has mean zero and variance one instead of
p and o? it is called standard normal distribution with P.d.f that:
1 -
1 —5Z
fz)=—2¢€ ;—o <z <00
2T

N

And denoted by Z~ N(0,1)

X =
Theorem : Ifther.v X~ N(u,0%),0° > 0; thenther.v|Z = Tﬂ ~ N(0,1)

b — a-—
Note : @ Ifther.v X~ N(u,0%),0> > 0;thenP(a < x < b) = Z( ﬂ) —Z( H)

o o

@ We can write Z(x) as the following forms N(x), ®(x) or F(x).

Remark:N(—x) =1 - N(x) or Z(—x) = 1 — Z(x).
1,2
Note: M,(t) = € 2 and Z(x) = N(x) = F(x) = Pr(Z < x) = Pr(—* < x)

Example: Let X~ N(3,4) .Find P(X < 4)
Solution :

sinceX~N(34) = u=3 and ¢?=4 = o=2
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P(Xs4)=P(X_” 34_”)=P<Z 34;—3)=Z(1> "r@@

o o 2

1

From Z table (standard normal table) we get @ G) =7 (2) = 0.6915

P(X < 4) = 0.6915

Normal Curve

04 S~
/N

/ \

03 / \

0.2

0.1 / \

0.0 S

Areas Under the Normal Curve
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